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ROMNICEA L. (SH2710%, A3 30%, Bik54r, C#84)

(1) P4z ABCD 3% 5. (2) Z=MAABCH»dH 3.
AACD = ABCD, /BAC = 50°, ZCAD = 30° AP:PB=1:2, APBR=AQCR
ZDLE, LCDA #3ke k. MR AAPQ : PUATE PBCQ %2 3K & X.
A
D
B C
(3) EHW ABCD 2346 5. (4)  ZfAABCH 5.
PufyiZ EBCD = P4 FBCD, AE:EB=3:2 AABP = VU457 BPQR, BP : PC =2: 3
ZDEEFG:GBZKD XK. APQR DfifE 1 AABC OAalf% 5>,
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2.

ROMNICEZ L. (SH35330%, Afks545r, B 74, C#% 104 )

(1)  E=ZAFABCHH 3. (2) =AM ABC2H 5.
AABC = AACD, /BAD = 30° AABQ = ACBP, BQ = QC
D #XmRL, ZADB %3k X. APQR DI IZ AABC Ofilf52».
A
A
P
B C
B Q C
(3) AD:BC=1:2TAD/BCD&EFABCD 2% %. ) ZfMAIEABCH»H%.
PufgfZ ABFD = PUf4f AECD, AE = EB BP : PC =2:1, AABR = VifiZ QRPC
AGBC DI B DMEED. AR:RP %3k k.
A D A
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R
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PufyiE ABCD 238 % .
AACD = ABCD, ZBAC = 50°, ZCAD = 30°
ZDEE, LCDA 2R k.

*ERAEO  AACD = ABCD ¢ AB // CD
fEfkh  /ACD = /BAC = 50°
AACD 75 Z/CDA = 180 — (50 + 30) = 100°

£ ABCD 3% 5.
YUz EBCD = W42 FBCD, AE: EB=3:2
ZDEEFG:CBZRD &.

F D

% ©.H.-@.. >

K HEE & 5] <)
PafgfZ2 EBCD = P42 FBCD
= EBCD — GBCD = FBCD — GBCD
= AEBG = AFDG
*HEHAK® AEBG = AFDG ¢ EF // BD
AE:EB=3:2 = AF:FD=3:2
% EBDF (BT, FAT% EF & BDDMHIE3:5
& ->7T, AGEF v>» AGDB CTHflk 3 : 5
= FG:GB=3:5

\

YR X277 ADEHEDS,
BE.AD,.FG __ 2.5.FG __ FG _ 3
EA DF GB_1:>§§GB_1:>GB_5

BRE

@® APAB = AQAB
® APAR = AQBR (4 D)
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X (S#H2T310%, A3 307, B#K5, CH8w)

v EE, BEHELW
@ OiZ — ARAB

ZA ABC 236 5.
AP:PB=1:2, APBR = AQCR
MRt AAPQ : PUFTE PBCQ %3k k.

*EMAM® APBR = AQCR ¢ PQ // BC
(% % BRI B h N AT)

AP:PB=1:2 = AQ:QC=1:2
AAPQ = :-1AABC = LAABC

AAPQ: I PBCQ=13%:(1-%)=1:8

= ABC 2% %.
AABP = VUf5f2 BPQR, BP : PC =2:3
APQR Difif&1d AABC Dfaffi57>.

A

B p

K AE T 251 <!

AABP = MfgjZ BPQR
= AABP — BPSR = lfJZ BPQR — BPSR
= ASAR = ASQP
*EMAKD  ASAR = ASQP & AQ // RP
(I % % b T I B S iAo T
BP:PC=2:3 = AR:RB=3:2
*EREFD  AQ // RP & AARP = AQRP
APQR = AARP = 2AABP = 2-2AABC

6
SAABC = ——
25%

— 25

-
-

( http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

ROMNCEA L. (SH33308, A#ks5%r, Bk 74, C#% 104 )

(1) [FE=MAFABC»d 3. (2) =M ABCH1H 5.
AABC = AACD, /BAD = 30° AABQ = ACBP, BQ = QC
D #XmRL, ZADB %3k X. APQR DI IZ AABC Ofilf52».
A A

2 P
D1 0

B C B Q C

FHEH & 5l < !
AABQ = ACBP

Do = AABQ - BQRP = ACBP — BQRP
= APAR = AQCR
*ERMALPO  AABC = AACD < AC // BD KRG APAR = AQCR & PQ // AC
ZBAD =30°L H 503, M DI AB DENED»H S 0 (% % | F 1ot fiAOPAT)

/AD;B = 90° B PQCA ICHEHLT, PR:RC=1:2
{Capn —

ZAD2B = 30°

APQR = 1-1-1AABC = LAABC = %{%
(3) AD:BC=1:2TAD/BC D& ABCD »$%. ) Z“fAIEABCH»H3.
Paf1 ABFD = PUf4J¥ AECD, AE = EB BP:PC=2:1, AABR = V4% QRPC
AGBC DX B TE DS 0>, AR:RP %Zk®d k.
A.©-.D A S
E ;
R .
B @ ........ C B @ ..... P@ C
FdETs sy &2 51 <! X EMATO  PQ// CS
VYT ABFD = PUf4 T AECD = ACPQ = ASPQ ¢ QRPC = ASRP
= ABFD — AEGFD = AECD — AEGFD *EMEW@ AABR = QRPC = ASRP
= AEBG = AFCG & AS //=BC
*EMAW® AEBG = AFCG ® EF // BC
(% % bR Pt i1 S AQ:QC=SQ:QB=CP:PB=1:2
= AS:BC=1:2 = AS:BP=1:2:3=3:4
AE:EB=1:1 = DF:FC=1:1 = AR:RP=3:4
EF 2O L@ FHc, OMfE EBCF IFHTET, T
% EF &£ BCOIZ15:2=3:4 Tl AT ADEHED,
&> T, AGEF > AGCB THIIL 3 : 4 A3-GBfR=1 = $3FR-a
R—4 = AR:RP=3:4
AGBC = $AEBC = 2-1AABC = £-1-2/JF ABCD
4

= LA ABCD = o7 &
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